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Paper -1

Name of Paper : General Studies
Time Allowed ; 2 Hours Max. Marks : 100

i

Name of the Candidate : w’l[
1 NT~ . | | | ! %

RoliNo.: 1] |83 M

Read the instructions given below before opening ri: is Guestios: £=<mk!et :

DO NOT OPEN TH1S QUESTION BOOKLET UNTiL YU ARE TOLD TO DO SO |

1. Useoniy BLUE/BLACK Bail Point Per

(8%

Cheek the QUESTION H(‘ KLET thoroughly: In case n! any defect — misprini, missing question/s,
get the question bookler changed. No complaint shall be en ertained after the exam ir: this regard.

3. This -est booklet contains 100 items (questions). Each item is printed both in Hindi and Linglish.
Each item C-’)‘l’l}“‘i%‘.i four rasponses (answers). You will select the response which yvou want 1o mark
on the Answer Sheet. In case vou feel that there is more than one correct response. mark e response
which vou 'onstdcr the best. in any case, choose ONLY ONE response for each item,

4. a0 Qu =<i;\ma COMPULSCRY. Eacih Question cairics one mark. For each wrong Answer, one
fourth (0.25) m: t.z'k will be dedueted.
3. Before vou mark the Answer, read the instructions on the back page ot the ONMR {/ aswer) Sacet as

well as on the Question Bookiet and fill the particulars in the OMR _Answer) Sheet caveiuily and
correctly. Incomplete & Incoirect particulars may result in your OMR (Answer) Sheet not being
evaluated bv the Computer.

4. Answer Sheets will be collected only after the cu-npiclion of the Examination and no candidawe shali
be allowed Lo 10;1\@ the Examination Hall earlier, After completing the t2sf, handover the OMR
{(Answer) Sheet to the Invigiiator.

1

7. Fo 'Rmmi Work, 2 Blank Sheets have been provided in the Question Bookler iisell. N Extra Sheet
i ce provided under any civeninstances.

3. Wrile the QUESTION BODKIL ff SERIES in the space providad on the OMR (£ wwer) Sheet. by

darkening the corresponding ciicles.

9. Candidate should write his‘her Namme, Roll Number. Question Booklet Seres and other specitic
iniormation in the space provided on the Question Booklet as \‘.-‘CE: as on the OMR {Answer) Sheet.

NOTE ; The Question Bookict is bilingual. In cuse of any difference/aribizeiiy beiy cen Ma;,f.’u!f & |
Hindi version, the Enzlish version shall be considered as fi rza:.‘m—’u 2ot i

e a7 7 B wwT 5T BT Qs B AT T T 8 &
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Qiﬁlﬁﬁ#ﬁw‘aﬁwﬁm@nﬁf&ﬁﬁmﬁawmﬁg@mﬁ%a&maﬂvﬂ%
R fawedt 7 & @@ s gfg -

g 1 qEN
1. 1564 a. ZE9m fGww
2, 1575 b.  HER FT ITETI
3. 1579 - c. SO F INgE
4, 1582 d.  EETEd @M S R
e
(A) 1-d, 2-c, 3-a, 4-b : . (B) 1-a,2-d,3-b,4-c ¢
(C) 1-c,2-d, 3-b, 4-a (D) 1-b,2-a,3-c,4-d e
The world’s driest desert is : .
(A) Thar (B) Sahara (C) Gobi (D) Atacama
[ 3T GI8 TTET I 7o &
(A) 91 (B) @&, (C) (D) werEmT

Match the names of the four Buddhist Councils given in Column T with the places they
were held as given in Column IT and provide the correct answer from the options given
below : ' |

Column 1 Column II

1. TFirst Council a.  Vaishali ,

2. Sccond Council b.  Rajgir

3. Third Council ¢.  Kundalban

4. Tourth Council d.  Pataliputra
Options :

(A) 1-d,2-b, 3-c. 4-a (B) 1-a, 2-c, 3-d. 4-b
(C) 1-b, 2-a, 3-d, 4-c . (D) 1-c,2-d, 3-b, 4-a

T 1 H e 77 9 s retvaet % A7 & e e X1 Ry 1 o ardife e E AR ok
W 27 faeedt F & wet o g

il T 1
. gEe Fwefa a. ATl
2. al sty b. TR
3. el sefag c. WEF
4. ot wrefaa d. gy
g '
(A) 1-d, 2-b, 3-c, 4-a (B) I-a, 2-¢, 3-d, 4-b
(C) 1-b, 2-a, 3-d, 4-c (D) 1-¢, 2-d. 3-b, 4-a
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Pigment containing and light reflecting cells are :

(A) Leucoplasts (3) Chloroplasts  (C) Chromatophore (D) Chromatoplasts
uieEyTh ofR IS TaiE FIEN ©

(A) THETE (3) TS (C) HHIHR \/((D) BIHCITTE *

Bluc Revolution refers to the great increase in which economic activity ?

(A) Fertilizers ¢ (B) Dairy

(C) Commercial farming (D) Aquaculture »

<ot e vy onfis TR o gfg T & 2

(A) & (B) &l

(C) @T|EE adr (D) 7o qTE /

What does the carth do on its axis ?

(A) Rotates (3) Revolves (C) Spins - (D) Circumnavigates
g} SO 78T O 4T HeCl B 7

(A) T+ . \/' (3) gfesAY T (C) Twm (D) wrgfEarr

/ Which Indus Valley Civilization site has shown archaeological evidence of rice

cultivation /

(A) Chanhudaro™ (133) Kalibangan (C) Dholavira (D) Rangpur
fer fy oTeT e w4 7 AT @ @ $ Qi g 9y g ?

(A) F%E (3) e (C) diemdi (D) IR

A geostationary satellite is positioned at a distance of how many kilometres above mean

sen level ?
(A) 35.880 (13) 37,800° (C) 35,786 \/ (D) 32,000
a5 e & o et 9T 0% gedrd 9uvE Rea & 7
(A) 35.880 (B) 37.800 (C) 35,786 (D) 32,000
Which state of India is the largest producer of chillies and turmeric ?
(Tob? 5~
(A) Uttar Pradesh : (B) Andhra Pradesh + C e
, s g
(C) West Bengal (D) Maharashtra
RA & H-a1 757 el 3R e &1 Ja SHIRT IeTe el & 7
(A) T HE (B) T uesr
(C)  ufe s (D) HERE
" What did a person get when he was given a jagir by the Mughal emperor ?
(A) Salary (B) Grant of landed property
(C) A high office (D) A revenue assignment e

P.T.O.

e e e R e e e T L e e S T e Ry B R o i e e o e T i e
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el STE8TE ST TF feh B A 397 o1 Y SR 7 yeray o7 2

(A) TTETE (B) I =T 7 a1

(C) e (D) T9E F FH

The Matatila Flydel Project is on which river ? '

(A) Tapi in Gujarat (B) Mahanadi in Odisha -

(C) Betwa in Uttar Pradesh (D) Koyna in Maharashtra
" IR 2R g b T E 7

(A) TTYr - ToRT & (B) 7= - sifEem §

(C) T - ¥R w27 , (D) e - Famme &

Match the authors given in Column | with the chronicles written by them given i
Column 11 and provide the correct answer from the options given below :

Column I Column I1
I. Abul FFazl a.  Tarikh-i Firoz Shahi
2. Abdul Qadir Badauni b.  Padshahnama
3. Ziauddin Baranj ¢.  Akbarnama
4. Abdul Hamid I.ahori d.  Muntakhab-ut-Tawarikh
Options :
(A) 1-d, 2-a, 3-c, 4-b (B) 1-a, 2-c, 3-b, 4-d
(C) l-c, 2-d, 3-a, 4-b (D) 1-b. 2-a, 3-b, 4-¢

Wlﬁ%’}ﬂﬁﬁr@ﬁmﬁam!ﬁﬁIilﬁw%m%@ﬁsﬁsmﬁaﬁﬁqﬁﬁﬁ%ﬁmﬁﬁ
T g

T 1 T 11

. ¥E9 w9 a.  TE-v Rl oy

2. o IR FErgH b.  arEemEEHT

3. P aeh c.  STHITATH

4. o= Efg wEdy d.  gEE-sg-TEiE

ey '

(A) 1-d, 2-a, 3-¢, 4-b (B) 1-a, 2-c, 3-b, 4-d

(C) 1-¢c,2-d,3-a.4-b - ‘/ (D) 1-b, 2-a, 3-b, 4-¢

Disguised unemployment is said to occur when : ;
(A) Demand for labour declines compared to its supply for demographic reasons. \/K

(B) Demand for labour reduces because of'a seasonal swing.
(C) More labour is cngaged in an occupation than optimally required. \/
(D) Jobs get reduced because of a negative business cycle.
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(A) SwwEifEae FR & 5 4% &1 75T § & ot & ggen smyfd @t gen |
(B) et sifteear St 7o & 2 B A gedl @

(C) SHTET % U & FEqTg i & 21d 8 T @ STaled 9 § 81 916y
(D) FEREE AR T & 798 F A6 § HH &1 anft 2

Correctly match the dates given in Column I with the significance attached to each given
in Column IT and provide the correct answer from the options given below :

Column [ Column I
1. 15th January ‘a. World Health Day
2. 30th January b. Army Day
3. 15th March c.  Martyrs Day
4. 7th April d.  Consumer Rights Day
Options :
(A) 1-b, 2-c, 3-d. 4-a « \/ -(B) l-c, 2-a, 3-b, 4-d
(C) 1-d,2-b, 3-d, 4-¢ (D) 1-b, 2-d, 3-a, 4-c

el 1§ & 7 AT @ Frer o 11 R o wew & SR ok B R Rt § ¥ ad o
T 1 T I

. 159l a. (99 @ ey

2. 309 Ed b. &1 ReEw

3. 159 c. R REw

4, 739 d.  SydRH afer Ray

IEETR:

(A) 1-b, 2-c,3-d, 4-a (B) 1-c, 2-a, 3-b, 4-d

(C) 1-d. 2-b, 3-d, 4-c (D) 1-b, 2-d, 3-a, 4-¢

India’s coastlinc measures : \/ 'Vlﬁjﬁ—-
(A) 7416.6 kims (B) 7515.6kms = (C) 7516.6 kms (D) 7316.6 kms
WA W% T2 A9 8 -

(A) 7416.6 kms (B) 7515.6 kms (C) 7516.6 kms (D) 7316.6 kms

The Bharat Nirman Programme launched in 20035 was intended to :

(A) To develop heavy industries and communication networks

(I3) To develop handicrafl production and small-scale industries '
(C) To develop infrastructure and connectivity in rural arcas »- \/
(D) To develop core banking and financial institutions across scctors} A

LTS,
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Bl T T .-'—\ﬂlﬁ.““l’..‘-m'n.-"t,u& = '\'L%M'[(N-x\'_—_l-.rﬁ'hlh-.l “ ® T —— R T PP LR i ames iy

2005%’%%%%@%@%8@%%

(A) ﬁr&r@vﬁaﬁ;ﬁm%ﬁ%ﬁﬁmﬁmm

(B) mfsmwaﬂwwﬂv@rﬁaﬁwmm

(D) @Pwﬁﬁ%aﬁ?ﬁ%ﬁwﬁﬁwﬁ#@?m

What kind (‘:f'micro—orgamisms are there in nj ‘ogen fixing bacteria 2

(A)  Rhizobium (B) Procarvotic \/((J;) ;'\zotoba'ctcr (D) Cyanobacteria
TSI et difta 3 ot s 3 i 4 &

A) TERRT By R (C) wErEgey - (D) wEaefi

Black cotton soils are also knewn as

(A) Regur (B) Khadar
(C) Bhabar (D) Bhangar

X FeT 437 3 T ®9 F off 7 oy 2

(A) TR, (B) =R

(C) wm (D) wFR

The three major Kharif CIOps grown in Haryana are -

(A) Paddv. Sugarcane, Cotton (B) Chillics, Wheat, Jowar

(C) Bajra. Wheat. Pulses (D) Millet. Sunflower, Mustard
(A) mwmﬁ (B) Fr, ¥ =

(C) 3w, ¥ = (D) S, qErge, avr

In which Rock Ediet is Asoka named in person and not by his ysual title Devanampriya ?
(A) Maski \/ (B) Taxila (C) Mahasthan (D) Bahapuy
%&mﬁawwswwwwwsq%mmmmm ?

(A) =% (B) Tafrar - (C) wemar (D) @y
Under which Viceroy was the Indian Universities Commission set up in 1902 9
tA) Lord Curzon . \/ (BY Lord Minto

(C) Lord Hardinge (D) Lord Chelmsford
Jgozﬁ%m%mﬁuﬂﬁmwﬁaﬁwg?

(A) T wa (B) @ iy

(C) =€ aifdy (D) e s

How many districgs. sub-divisions and tehsils are there iy Harvana ?
(A) 24,75, 95 respectively (B) 22,73.03 respectively e ﬂ/
(C) 25.76.95 respectively (D) 27,75, 95 respectively
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FRATeT § fae o, S9-gve SR qedw € 7
(A) H: 24,75, 95 (B) =mHem: 22,73,93
(C) 4% 25, 76, 93 (D) @&\ 27, 75, 95
27.  What pereentage of Haryana is officially recognized as being under forest cover ?
~(A) 5.5 percent (B) 3.59 percent «vV/(C) 3 percent (D) 4.5 percent
&femon & fae afaer. SRT @1 a9 e 3 eivia aiftee w9 @ T a2
(A) 5.5 ufaem (B) 3.39 yfsm (C) 3 gfasE (D) 4.5 gfas|

28. The Pradhan Mantri Jan Dhan Yojana launched in 2014 was designed 1o :
(A) Promote financial inclusion in the country * \/
(B) To provide financial assistance to marginalized aroups
\/ (C) To provide housing loans and low rates to interest to the poorer people
(D) To sustain women sclf-help groups in rural areas
2014 § AR gE GUIET o9 o AT feeme 9
(A) =91 ¥ foxirg emmaom & gomEr 2 &R
(B) Ul wEi @ foxfig gemar om0 & o
(C) RIT TR F1 BTefHT A9 ok 7 @e 57 W & 39 % R
(D) 3w#fror &1 & wieem @ aerear @E @1 a9 @ & fig

/-. Mateh the names of the kings given in Column T with their appropriate dynastics given in

{: P Vs Column I1 and provide the correct answer from the options given below :
. Column | Column II

. Rajendra a. Pallava

. Mahendravarman b.  Hoysala

3 Amogavarsha ¢.  Rashtrakuta

4. Vishnuvardhana d. Chola

Options : N

(A) 1-d, 2-a, 3-¢c, 4-b (B) 1-a,2-d, 3-c. 4-b
7< (C) ld_dgd—h (D) 1-c, 2-b, 3-d, 4-a

g 13 R % st & 9w @ ge 1§ Y 9 sugss qedet & fraw sl of R R Rt

% @ SRy

T | T 1

. W a. Uwd

2, ; _c-"x." f i b. BTQW

3. ey c. T=ge

4, fowmEds d. 9@

ey :

(A) 1-d, 2-a, 3-c, 4- b/ (B) '1-a, 2-d. 3-c, 4-b

(C) 1-d, 2-a, 3-d, 4-c (D) I-c,2-b, 3-d,4-a w

—— '

603/A | 2. L.0.
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@ Yucatan Gnml Jjoins which two countries ?

q !

31.

s

32.

v

(A) Mexico and Cuba

(©) P'lpm New Guinea and Austra]ia
IHTE BT & 1 39T

(A) e SR Fa \/F

(C) ogar = FT ofi aifefemn

“(A) Regulating Act of 1773 .
(C) Charter Act of 1793

(B) Ttaly and Albania

(D) Indonesia and Malavsia

(B) gt oix Twfean
(D) RS R wafimr

1he Supreme Court at Fort Wiliialzyalculla was cstablished by which Act ?

(B) India Act of 1784
(D) Charter Aci of 1813

ﬁﬁamﬁﬁwﬁwmmﬂéﬁf@mﬂwwaﬁwé’

(A) s afafm 1773
(C) =T sfafeam 1793

(B) wma sFfafgs 1784
(D) arex afafeay 1813

Match the sobriquets given in Column I with their states given in Column II and provid:

the correct answer from the options given below :

Column I

1. The Falcon Capital

2. The Orchid State

3. The Gateway to the East

4. Thec Land of the Hill People
Options :

(A) 1-b, 2-d, 3-a, 4-c

(C) I-a.2-c, 3-b, 4-d

Column 11
a.  Manipur
b.  Nagaland
¢.  Mizoram
d.  Arunachal Pradesh
(B) l-c.2-a,3-d,4-b+
(D) 1-d, 2-b, 3-c, 4-a

T LA T 1 SwArt & ey 1 9w wedr @ R i of R Ry Rewl § & a8t o

5 "

-
& BT i

R ECEA

1 dg offw & few diuw
o -

(A) 1-b, 2-d, 3-a, 4-c

(C) 1-a, 2-c. 3-b, 4-d

(A) Humboldt current —
(C) Canary current

603/A

T
GIRIERS
GIRIRLE
SS9

0

2 o ol

l-c. 2-a, 3-d. 4-b
I-d. 2-b, 3-c, 4-a

(B)
(D)

., The occanic current produced by the irregularly periodic variation in winds and sea
surface temperatures over the tropical eastern Pacific Ocean is known as :

(B) ElNino ¢
(D) Agulhas current

_Downloaded from www.cclchapter.com
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TwiE{EddTy gdf HT ARRIR F SR GE & G098 & QA 5 siarie smafie fear % $Ror oaw

HETAFTIY TR &l FET ST &
(A) BHETE HE (B) & A=
j (C) Hf e - (D) TR &E

/34. Match the Latin terms given in Column I with corresponding meanings used in legal
procecdings given in Column IT and provide the correct answer from the options given

below :
Column I . Column IT
1. Actus Reus a.  We command
2. Certiorari b.  Guilty act
3. Habeas Corpus ¢. To be apprised
4. Mandamus d.  You may have the body
Options :
7& (A) 1-b, 2-¢, 3-d, 4-a\/ " (B) 1-a,2-d,3-b,4-c*
(C) 1-d, 2-a, 3-c, 4-b (D) 1-c,2-b, 3-a, 4-d
ol 1% R 13 Afes o=l &1 fam g2l 1 & S sREd # owd f6d O I o et @
IR o i R Rt & & SR AT |
g _ o 1
o ueed e a4 FAE
2. wiErd b. et Qg
3. efagg widg c. T wEER
4, WEEE d yuagdiaE
faae
(A) 1-b, 2-c, 3-d, 4-a (B) 1-a, 2-d, 3-b, 4-c=
/(©) 1-d,2-a, 3-c, 4-b (D) 1-¢,2-b,3-a,4-d
65/,7 Which Plan was also known as the ‘Rao and Manmohan® Plan ?
4 (A) ‘l‘hc .I'_‘.lghth Plan \/ (B) The NJQ'__‘E__[_‘I P.lan
7( (C) The Tenth Plan » (D) The Twelfth Plan
forey T 3 07 SR A qISHT ST FET ST 8 7
(A) STt AT (B) 4T d
(C) T gramT : (D) dREdl gt
603/A | P.T.O.

B SRR | WS SRS e e S e —e s W T TR T
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36. Match the central government programmes in Columa I with the years of their introductior
given in Column I and provide the correct answer fiom the options given below ;

Column I Column 11
[. National Rural Employment Guarantee Act a. 2000
2. Pradhan Mantri Jan Dhan Yojana b 2005
3. Employment Assurance Scheme c. 2014
4. Pradhan Mantri Gramodaya Yojana d 1993
Options :
\/ (A) 1-d, 2-b, 3-a, 4-d (B) 1-b. 2-c. 3-d, 4-a » /
(C) 1-a, 2-d. 3-b, 4-¢ (D) 1-b. 2-c, 3-a, 4-d
T 1 # RE 73 & wwn % s a1 fam geh 1 o ary 57 T ast & Hifte ot 9 R
TqHT 1 SRR

. e grfior e TR srfafry a. 2000
2. SUTHET §9 g7 AT b. 2005
3. SR SrETER AT c. 2014
4. FUHST AT FmT d. 1993
e
(A) 1-d, 2-b, 3-a, 4-d (B) 1-b, 2-c, 3-d, 4-a
(C) 1-a,2-d. 3-b, 4-c g (D) 1-b. 2-c, 3-a, 4-d

37. Who was appointed Attorney General of India on 30th June 2017 2
(A) P.J. Thomas (B) K. K. Venugopal »
(C) Rohinton Nariman (D) M. N. Krishnamani

\/ 309, 2017 1 {8 WRE &7 7T ot rages fogam mar o 7
(A) Glo Fo &g (B) %o &o JUFIT \/
(C) fest i (D) Wo Qo Fumfer

38. Maich the names of the branches of the biological studies given in Co!umn I with thcw
arcas of specialization in Column IT and select the cosrect answer using the options Ulven
below the columns :

Column | Column 11

7'@ 1. Acarology a.  Study of Fish
cﬂ_ 2. Cciology b, Study of Agriculture
ﬁ 3. Geoponics ¢.  Study of Mites
4. Ichthyology d. - Study of Whales and Dolphins
Options : )
(A) 1-a, 2-b, 3-¢c, 4-d o+ ; (B) 1 b 2-c, 3-d, 4- -d e
(C) I-c, 2-d, 3-b, 4-a \/ (D) 1-d, 2-a, 3-b, 4-¢ 1

603/A
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T 17 <1 7t Sifees srerae @ qranedt @ frar g 11§ R 1 o Rl % 8 & @it ok

13 23 fased § § wet R g -
T 1 T 11
1. e a. WOl & STEET
2. HiEm b. & & o
3. et c. YT & A
4.  FfeadrEre d. @& oK eTiew &1 g
e
(A) 1-a, 2-b, 3-c, 4-d (B) 1-b, 2-c, 3-d, 4-a
(C) 1-c,2-d, 3-b, 4-a (D) 1-d, 2-a, 3-b, 4-c

39. A high molccular weight compound formed by combining large numbers of small
molecules of low mt}c,e;ular weight is called :

(A) Polymer * / (B) Alkali (C) Acid (D) Direct Dyes
ST AR F 21 AT § B o] I e F oF 92 R AR B A0S e S &, 9 Fe
g:
(A) 955 (B) &) T (©) e (D) 9 %
40. A vector is a physical quantity which has :
(A) Mass and volume (B) Density and tension
(C) Incrtia and stress (D) Magnitude and direction »
aiy o s ufdr & e &
\/ (A) FHEN Ud s (B) ©9@ Ud a9 |
(C) s T Fide (D) ufam T e - \/

41.  Which of the following Indian city was declared as a World Heritage City by UNESCO in
July 2017 ?

?4 (A) Bhopal (B) Lucknow (C) Uijjain » (D) Ahmedabad /
/7 R 2017, F g%t &R g AR s @ e v rex f v ar 2 |
(A) 9ard (B) w&TS (C) =M (D) STEHIET

42. Maich the names of scientists in Column I with their fundamental given in Column 11
and sclect the correct answer using the options given below the columns :
Column 1 Column II

% . Louis Pasteur . » splitting of the atom and discovery of proton
YA 2. Alexander Fleming /;Ij; discovery of X-Rays
3

irnest Rutherford enzyme lysozyme and benzylpenicillin

4. William Konrad Roentgen 2 vaccination and microbial fermentation .
Options : ) ' ) dc &
(A) 1-c,2-d,3-a,4-b ¢ \/ ' (B) 1-d, 2-a, 3-b, 4-¢ : /
(C) I-a,2-c,3-d, 4-b (D) 1-b, 2-a, 3-c, 4-d,l

603/A PT O

g b b e - — - T T T R W T e R S T WA T e T T T T

e e s e
Al G e e e W e i o
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!ﬁ]ﬁﬁﬁ@aﬁﬁﬁ%mwmzﬁnﬁm%%ﬁﬁqeﬂtﬁﬁ%ﬁﬁ
7 T g

Seil | T 1T
I 39 9 8. TRETST &7 faureT oy grev 85 g
2. ToFE wifhT b.  UFg-favw &% E
3. 9w C.  USTRH Tsdemew Ue At
4. Rfem sie team d. R o Al R
T ’
(A) 1-¢, 2-d, 3-a, 4. (B) 1-d, 2-a, 3-b, 4-¢
(C) 1-a,2-c, 3-d, 4-h (D) 1-b, 2-a, 3-¢, 4-d

/43. Why is radiocarbon dating not good for material more than 30,000 years old ?

4 (A) Because all animals emitted radiocarbon before that time

(B) Because radiocarbon was not present anywhere before that time

4 ? (C) Because the amount of C14 becomes almost immcasurably small in 30,000 years
‘ (D) Because carbon extraction was not known before 30,000 vears

Wﬁﬂwﬁ%ﬁso,moﬁ%mmw%mm TETE ?

(B) mﬁwm%ﬁ‘ff&?ﬁﬁmaﬁﬁaﬁm
(C) 30,00075f & C14 ﬁwwéamz‘rvéa“r ’
(D) 30,000 7 95 @ fremfor % &t 3 ey s o7 v
44. Biographical informat on on Guru Nanak is available from which major source ?
(A) Adi Granth (B) Janam Sakhis (C) Gyvan Ratnavali (D) Dasam Granth
(A) R 3T o A/ (B) w7 wredh ©) FTAWER (D) 75w iy

45. Match the distinctive aspects given in Column I with the correct districts of Haryan
given in Column If and select the correct answer using the options given below th

columns :
Column 1 Column 11
I. 'This district has the tomb of Sheikh Chjll; ' a Rohtak
2. This city is associated with the temple called Panchvati 'b. Jind
3. This district is associated with the temple of Jayvanti Devj c Kurukshetra
) 4. This district is associated with the ancient town of Khokrakot' d Palwal

\/ Options ;

(A) 1-¢, 2-d, 3-b, 4-a ., ;\/ (B) 1-a, 2-b, 3-c. 4-d |
(C) 1-b, 2-¢, 3-b, 4-d (D) 1-d. 2-a, 3-c, 4-b

603/A
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zﬁnﬁfﬁw&fﬂmﬁ%@ﬁwﬁiﬂwqﬁnﬁﬁﬁﬁaﬁmﬂ%ﬂﬁﬁﬁﬁﬁﬁqaﬁiﬁﬁ%
femedt & 9wt e g
T | T 1

TETH

L. w9 9a ¥ g ol &1 meap & a.

2. 8 U 49 A% AR § wafg & b. g

3. T v e 3 s e & vy 3 . g

4. 7% o [ o dedie § g 2 d.  wwEw

e

(A) 1-c, 2-d, 3-b, 4-a (B) 1-a, 2-b, 3-c, 4-d

(C) 1-b,2-c,3-b,4-d (D) 1-d, 2-a, 3-c, 4-b

Gandhiji’s famous Dandi March in March 1930 heralded the start of which movement ?
(A) Satyagraha ' : (B) Quit India Movement

(C) Dircet Action Day (D) Civil Disobedience Movement . \/
i I930ﬁﬁ%rwﬁaﬁﬁ%ﬂemq%aﬁﬁ$rw%?

(A) wEwE - (B) R O e

(C) =¥ teyM 2 (D) afesT s e

Match the Divisions in Haryana given in Column I with two of the sclected districts in
cach one’s jurisdiction given in Column IT and select the correer answer using the options
given below the columns

Column I Column I1
I.  Karnal 3 Jind, Sirsa
2. Hisar — b.  Panipat, Kaithal
3. Ambala - S e —. C, '_ﬁlaj_jar, Bhiwani
4.  Rohtak __— \,d Kurukshetra, Yamuna Nagar
Options :
(A)  1-d, 2-a, 3-c, 4-b (B) 1-a, 2-c, 3-b, 4-d
(C) 1l-c,2-d, 3-a, 4-b (D) 1-b, 2-a, 3-d,4-c ~

wlﬁﬁ%ﬂ%aﬁmm%%ﬁmﬁmmﬁrIlﬁmwmmﬁmﬁaﬁﬁﬁ%ww
mﬁ%ﬁﬁﬁw&%aﬁmgﬁq: :

T T 11

. & a. doffg, faar

2. faaw b. UG, Hya

3. S c. FwR, PEFEr

4. TETH d.  FEE, TR
ey

(A) 1-d, 2-a, 3-c, 4-b (B) 1-a,2-c, 3-b, 4-d
(C) I-c,2-d, 3-a, 4-b - (D) 1-b, 2-a, 3-d, 4-¢

e | Aty ™ CH . WATI® W o PPy S i e T e e T we——
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Where was Razia Sultan defeated and assassinated ?

{A) Palwal (B) Panipat (C) Jhajjar (D) Kaithal \/
(A) Taaw (B) urgs (C) &It _ (D) Fam o

Match the names of the Sceretarics General of the UN given in Column I with the
countrics of their origin given in Column II and provide the correct answer from the
options given below :

Column i Column 1
1. Ban Ki-Moon _—>2a.  Portugal
2. Koli Annan il b. Norway
3. Trygve Lic / c.  South Korea
4. Antonio Guterres d.  Ghana
Options :
(A) 1-¢,2-d. 3-b, 4-a f\/ (B) 1-a, 2-b, 3-d. 4-c
(C) 1-d, 2-a, 3-¢, 4-b (D) 1-b. 2-¢. 3-d, 4-a

aﬁlwﬁqmwmmmﬁm%wwm@Hrr—rl%awr%‘en%aﬁﬁmﬂﬁﬁ%rﬁw
et 1 7 weT o g

il L |

. FE& a. gamw

2. BT IEN b, 4

3. ErEren c. T e

4. dEfE ray d. |

AT '

(A) 1-c.2-d. 3-b, 4-a " (B) 1-a,2-b, 3-d, 4-¢
(C) 1-d.2-a.3-c, 4-b (D) 1-b. 2-c. 3-d, 4-a

The central nodal agency for implementing price support operations for commercial crops
is

(A) F(CI (B) NABARD+ (C) TRIFED (D) NAFED o \/
W?ﬁﬁﬁﬂ?ﬁ@ﬁﬁﬁﬂﬁ%ﬁmwmmé
(A) T%e Hto aMda . (B) W_rs‘ (C) ZE%e (D) e

When was the National Commission for Scheduled Castes and Tribes bifurcated into the
“National Commission for Scheduled Castes® and ‘National Commission for Scheduled
Tribes™ ?

(A) 28th September 2004 (B) 28th September 2006 ¢

(C) 28th September 2005 (D) 28th September 2003

_Downloaded from www.cclchapter.com
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g aifedl ofit Seenfedt @1 TSR oTET wE LT AN gqea s ofR e e

gy Seta’ & Eeifor gem ? |
(A) 28 feg, 2004 (B) 28 f&e=r, 2006
(C) 28 faamr, 2003 (D) 28 R, 2003

In tragedies caused by drinking spurious liquor, the active agent causing such tragedies is:
(A) Mcthyl alcohol+(B) Ethyl alcohol (C) Amylalcohol (D) Benzyl alcohol
el S T & g2 Aradl ¥, o ik Wi 39 AHE $1 R0 8, 98 ¢

(A) #few g - (B) URW UwRRy/ (C) WPWT@RE (D) SN R

53. / What is the total length of metalled roads in Haryana ? -

(A) 26,062 kms (B) 26,131 kms (C) 26,051 kms (D) 26,129 kms -
zftaro Ft fewe () Wed H G T AT e 7

(A) 26062f  (B) 26,131 fl v (©) 26051FF (D) 26,129 falt

54. Which of the following is mef in the concurrent list of the Indian Constitution ?

7l

>~

‘A) Criminal Procedure - (B) Electricity
7L (C) Archacological sites = (D) Public Order \/
[ T a ard S % e ge § T87 8 7
(A) STquiye gimar (B) fawrr
(C) quaTias o O REEEECE
55. The Poona Sarvajanik Sabha was established by M. G. Ranade and G.V. Joshi on :
(A) 2nd April 1870 (B) 2nd April 1869
(C) 2nd April 1871 (D) 2nd April 1872
7/\ o Ho TR R Ao Ho et a1 G Al G P e @ T ;
(A) 2 &8, 1870 (B) 2 @ld, 1869
(C) 2 o, 1871 (D) 2 &5, 1872

56. Which of the following aspects of the revolt of 1857 is nof correct ?
(A) It had a diverse social participation
(B) It was enthusiastically supported by the educated elite everywhere ~
(C) It was great symbol of communal unity

/ (D) It was limited only to northern India

Vo 1857 % fadie B an § fe ¥ gie-a ve 8 a8 8 7

(A) zoH fafay qrafors wrfrEr 4
(B) 7 & e fifera s o9 arr Soaregdes waida a1 - v
(C) & HiHIEE Tl $ HeT Jaie o
(D) TE& HIq S AT e Fia o7

603/A BE.T.6.
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58.

v

59.

603/A

Which of the following was the name given to village assemblies in the Chola kingdom ?

(A) Nadu (B) Nattar (C) Sabha D) Ur, A/
Frrferfea & & ol e amaTey # 7ifg &1 o & A Ry ma A ?

(A) 7Ig (B) W= - (C) &= , (D) =

The WTO was founded in Geneva in which year ?

(A) IstJanuary 1994 (B) 1stJanuary 1995™ \/

(C) IstJanuary 1996 (D) Ist January 1993

a1 fbe 9 WTO &t & g€ ?

(A) 137ad, 1994 (B) 1 &4, 1995

(C) 1 37ad, 1996 g (D) 1, 1993

Match the Articles of the Indian Constitution given in Column I with corresponding
provisions given in Column II and provide the cerrect answer from the options given
below :

Column | ) Colamn IT
l.  Atticle 153 a.  Appointment of Governor by the President
2. Articlc 154 b.  Mandates office of Governor
3. Article 155 c.  Specifies Term of the Governor
4.  Article 156 d.  Specifies Executive Authority of
Governor
Options : |
(A) 1-a,2-c,3-b,4-d » (B) 1-b, 2-d, 3-a, 4-c \/
(C) 1-c,2-a,3-d, 4-b (D) 1-d, 2-b, 3-c. 4-a

AT 1% R 1 Sy dfem % ogeyal @ fram g 1 i R o @ ymast & it s
Y el % & w8t s gf

el oIl
. BT 153 Tenf &1 TR @ gRE

oo

2. FIWT 154 b. T & TR

3. T 155 c. TS I &FS e wxar &

4.  FFHT 156 d.  TSEY & srEd ater & Mide &
frey

(A) 1-a,2-c, 3-b, 4-d (B) 1-b. 2-d, 3-a, 4-c

(C) 1-c,2-a, 3-d, 4-b (D) 1-d. 2-b. 3-c, 4-a
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@ Haryana Shahari Vikas Pradhikaran (HSVP) has :

61.

(A) 4 Zonal Administraters, 6 Estate Officers and 11 Assistant Officers
(3) 6 Zonal Administrators, 8 Estate Officers and 13 Assistant Officers
(C) 5 Zonal Administrators, 7 Estate Officers and 13 Assistant Officers
(D)_ 3 Zonal Officers, 5 Iistate Officers and 7 Assistant Officers
=g eredl s mftww (HSVP) & § /

(A) 4 9t 3o, 6wty sl ofit 11 geras el

(B) 6 e qomEs, & Ty SfiERr o 13 w=res aftsrd

(C) 5 Sier 9, 7 gl aifer of 13 wers sifeard

(1) 3 S s, 5 gty sifier ok 7 weres sty

17

Match the names of scientific instruments in Celumn I with their designated fields of

applications in Column 11 and sclect the correct answer using the options given below the

columns :

Column 1 Column I1

l.  Galvanometer ~—_ a.  Mecasure internal pressure of the eye

2. Tlygrometer ———_,b.  Measure electric currents
3. Manometer \c. Measure humidity levels

2l

4, Tonometer d.  Pressure of gases
Options :
(A) 1-d,2-a,3-c,4-b = B) 1-b,2-c,3-d, 4-a0 »

(©) 16,24, 3-8,4¢ 7 (D) 1-a, 2-c, 3-b, 4-d

qAT 1 fo7 7 G gueReit @ i g 10 R T o v % R d @ it ok AR

T 1 Tl 11
1 Ree 2. tE % SR < F A 3
2. ERUMIX b. Fgg o & A @
3 T C SATEAT &I & AT &
4. TR d. 9% I9 AT E
farareg -
(A) 1-d,2-, 3-c, 4-b (B) 1-b, 2-c, 3-d, 4-a

(C) 1-c, 2-d, 3-a, 4-c (D) 1-a, 2-c, 3-b, 4-d

603/A
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64.
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65.

V4

603/A

Who is the author credited with compoéing the classical Tamil epic 'Silappatikaram' ?
(A) Agastya (B) Tlango Adigal
(C) Chithalai Chathanar (D) Tholkapiyyar
e T 1 ST afie Teer R R # @ a A 9 7
(B) el cifewra \/

(C) #ae FR, (D) IR

_The amount of heat required for a substance to change from one state to another withow

change in temperature is called :

(A) Convection (B) Specific Heat «

(C) Radiation ; (D) Latent Heat (
mﬁwﬁeﬁr@wm%{@frmﬁﬁmmﬁw%wﬁaﬁaaﬁ T oMmavas So & AT
(A) #aE (B) faféire e

(C) fféo (D) T W .

How many million square kilometres is the surface area of the earth ?
(A) Approximately 550 million square kilometres »

(B) Approximately 520 million square kilometres

(C) Approximately 510 million square kilometres

(D) Approximately 500 million square kilometers

T BT T H R e PR o Rty & 2

(A) @191 550 fafera aof Rsanfier - '

(B) 1T 520 faferas 3 finfier

(C) w9 510 fafeaw o°f fandies

(D) w7 500 faferas af fasandtex

Match the branches of chemistry given in Column I with their main areas of specialized
study and rescarch given in Column II and select the correct answer using the options
given below the columns :

Column I Column 11
physical principles of chemical processes
detection and determination of chemicals
and compounds
chemical processes in living organisms

. Biochemistry
Material Chemistry

b

3. Physical Chemistry

4. Analytical Chemistry d.  solid state chemistry and polymer chemistry
Options :
(A) 1-d,2-b, 3-a, 4-c (B) 1-b, 2-a, 3-c. 4-d
(C) 1-a,2-c,3-d, 4-b (D) 1-c, 2-d, 3-a, 4-b - \/
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tﬁﬁIﬁa"rmﬁwm%rﬁwaﬁarfwmqsﬁnﬁﬁﬁ@ﬁmamemaaﬁm%g@q
& & BT ol i Ry Rt 3 TR gy

T T 11

. FEE . a.  TEENE ahEE  Hfe e :
2. utfw whE b. Tl SR NHT F qaT T ok I Bty
ST

3. Toefoe whe c. ol wamfie gk

4. ufew Hie d. TS & HAET QU gl Fied
IPET R
(A) 1-d, 2-b, 3-a, d-¢ \ (B) 1-b, 2-a, 3-¢, 4-d
(C) 1-a, 2-¢, 3-d, 4- D) 1-c,2-d, 3-a, 4-b

66. I metophobia is the fear of : ' :
(A) Vomiling\/ (B) Spiders )( > (C) Heights;( (D) Tunnels

’?‘1 a i vy ®

.! o (A) v (B) wedl 7 (C) Far (D) T

; 7 g E/i;\ Which of'the following is not a kharif crbp & .

' (A) Mustard (B) Jowar (C) Padd_y\_/ (D) Soyabean
099970 & W7 % & 3wt o 727 2 2 : |

//;z" (A) Tl e (B) =R (C) 9 . (D) e

68. In which book did Dadabhai Naoroji present his 'drain of wealth' theory ?
(A)  Economic Problems of India (B) British Rule and its Consequences
(C) Poverty and Un-British Rule in India (D) India Today

: %Wﬁﬁ%?ﬁﬁﬁﬁm‘?ﬁﬁaﬁf frafa gefar & 2

\/ (A) TS Wiary sif #fear B) fafes &7 uve sz sr=fieiay

(C) wradf uve sa-ffey & o 2R . (D) gRaTEe

69. The historic Grand Trunk Road does mot pass through which of the following district in
Iiaryana ?

\/(A) Rohtak » \/ (B) Kurukshetra (C) Ambala (D) Panipat
(A) Uzas (B) Zoi (C) faTm (D) oY

70.  The science best-seller 4 Brief History of Time which made it into the Guinness Book of
Records was written by :

v~ (A) Stephen Hawking « (B) Isaac Asimov
(C) H.G. Wells (D) Stephen King

603/A P:T. 0.
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72.

603/A

#u;;u_..

Column 1 Column 1

Water Gag o 4. Methane

Natural Gas \ b.  Butane and Propane

CNG ' . Merhéne, Ethane

LPG \,d Carbon Monoxide, Hydrogen
Options - = N
(A) 1-d, 2-c. 3-a,4-p l/ (B) I-a 2-d, 3-¢, 4-p
(C) 1-p, 2-d, 3-b, 4-3 (D) 1w, 2-a, 3-b, 4-d.

L gt iy a. W

2. g g b. =T &k iy

3. e c. WE fiy

4. d. . FET RIS, 2T
ey

(A) 1-d, 2-¢, 3.9, 4.p (B) 1-a,2-d, 3-¢, 4.

(€) 1-b,2-4, 3-b, 44 (D) l-¢,2-a,3-p 4.4

Match the Sufy saints in Columnp J with their significant activities given i Column I7 ang
provide the correct answer from the options given bejow : "

Column | Column J1 |
£, Nizam-ud-Din Auliya 2. Tansen’s spiritual and musical preceptor
2. Bayazid Ansari b.  Founded the Rishi order in Kashmir
3. Shah M, thammad Ghouge c. Spiritual Preceptor of Amir Khusrow
4. Nuruddin Noorani d.  Founder of the Roshaniya Order
Options :

(A) 1-d, 2-a, 3-c. 4.p " (B) 1-c,2-d, 3.9, 4.p o
(S 3-b, 4-4 (D) 1-b, 2.4, 3-c, 4-a

m
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T 1 33 77 gt G o P et 11 & ot wewqef afafefirdi & #ifvg ofik 9% R Rl

¥ get o ghe

gl g
1. femede e a.  TMAT & AT SR FiE 76
2. amfE sETd , b. BT %Y S & v B
3. YR AEEE W ¢oe IR G @ sreTfonE I
4. gEEE A d.  JufEr R F dwrs
e \/
(A) 1-d, 2-a, 3-c, 4-b (B) l-c 2-d, 3—,a, 4- lg,
(C) 1-a,2-c, 3-b, 4-d (D) -b_ 2-d, 3-c, 4-a

73. Which of the following designed the world’s first 30-KW class ATHENA drone
destroying laser ?

(A) Bocing (B) Thales
, (C) Lockheed Martin (D) Raytheon
/ e @1 Teell 30-KW & ATHENA §17 R aro ft fomeer 1 o 7
(A) &M - (B) ¥
\/ (C) wiels AieT (_wf’*)\/ (D) s
@ﬁ:} Match the gharanas of Hindustani classical music givén in Column ¥ with their famous

exponent given in Column II and provide the correct answer from the options given

below :
Column 1 Column I
. Jaipur gharana a. Al Akbar Khan
2. Paiiala gharana b.  Rajan and Sajan Mishra
3. DBanaras Gharana ¢.  Kishori Amonkar
4. Maihar Gharana d.  Vinayakrao Patwardhan
Options :
(A) 1-a,2-d, 3-¢c, 4-b (B) 1-c, 2-a, 3-b. 4-d
(C) 1-d,2-c, 3-b, 4-a (D) 1-b, 2-a, 3-d, 4-c
wﬁ]wﬁﬁﬁ%amsnﬁwwﬁa%m%ﬁ%@lwﬁv@mmqﬁmﬁﬁ
Sy &R F R fawwi § 9 w2 om g
T | = 11
. SR g a. Sl AHER G
/ 2. gfegmEr | b, T SR e e
3. S9RE 9 c. foreirll amER
4. A ONAT d. fomaeE veadq
e i
(A) 1-a, 2-d, 3-c, 4-b (B) 1-c,2-a, 3-b, 4-d
(C) 1-d, 2-c,3-b,4-a ¢ / " (D) 1-b,2-a,3-d, 4-c
603/A P.T. 6
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(B) Madhya Pradesh High Court
(D) Kolkata High Court

% (C) Guwahati High Court /

%wmwwf#éﬁ;aﬁm ST FT E 7
(A) T 3=~ - (B) TET 99T O STy
(C) Trr v wmmy (D) #rasm so =y
76.  Which of the following s not a radioactive particle ? ;
/ (A) Alpha (B) Delta~y” (C) Beta (D) Gamma
Froe & & ey U Wedtfrer ot 72 & 7
(A) Twr (B) Ty _ (C) e (D) Py

77.  Kathakal; is a popular dance form prevalent in which State ?
(A) Andhra Pradesh ( B) Karnataka (C)  Tamil Nady (D) Kerala \/”
FITA O 5397 7 gy JIE?
(A) arfy girgr (B) Ffzs (C) g (D) #F
Who was the Jain scholar who ag consulted and honoured by Sultan Muhammad-bin
Tughlaq ?
(A) Jinaprabha Suri \/ : (B) Mahendra Suri
- (C)  Hemchandra Suri o (D) Kundachar}’a
o Ww%wﬁw%ﬁw%mﬁmﬁrwmw
(A) R gft (B) &= g
(C) %weiz gir (D) gerarf

79. The Jal| lanwala massacre happened on -

(A) 13th Apri] 1918 _ (B) 13th April 1917
(©) 13th April 1979 , A D) 13th April 1916
{A) 13 3%, 1938 (B) 13 3w 1917
(C) 13 38, 1919 (D) 13 e, 1916

@ In which college of Delhj University dig Sir Chotu Ram Study for his undergraduate
degree ?

@ (A) Hindy College \/ (B) st Stephen’s College

4 (C) Ramjas College . (D) Daulat Ram College

%%ﬂ%ﬁq%%ﬁﬁﬁwﬁm@gm%wﬁﬁm%%ﬁawzﬁm?
(A) R #rrw . (B) ¥ 21w arw
(C) 99w afa (D) =t 79 w26

603/A
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81. Maich the names of the following schools of Indian philosophy in Celumn I with the
names of their preeeptors given in Column 11 and provide the correct answer from the
options given below :

Column I Column IT
l.  Sankhya _____»a.  Patanjali
\/2. Yapy o 7 b.  Kapil.
3. Nyaya G ai‘glini
4. Mimamsa d. Gautama
Options : -
(A) 1-b, 2-a, 3-d, 4- c‘fj“ / (B) 1-a, 2-d, 3-b, 4-¢
(C) }~L2a"h4d (D) 1-d, 2-¢, 3-d, 4-c

qa”')1qﬁwwﬁrﬁﬁfﬁﬁWaaﬁmwwﬁlﬁm!ﬁnﬁﬁﬁwmm&w%wé

SIS S e o7 famedl 3§ & wt oo gl
T 1 Tt 11
1. q= a.  gdefe
2. dm b. &Ud
3. HH9 c.  afwe
4. Hratan d. W
fawag
(A) 1-b, 2-a, 3-d. 4-c (B) 1-a, 2-d, 3-b, 4-¢
(C) 1-¢.2-a, 3-b, 4-d (D) 1-d, 2-c, 3-d, 4-¢
82. Gita Gopinath was the first woman chief economist to be appointed to which international
organization ,
(A) The IMT + \/ (B) The World Bank
(C) Oxfam (D) Google
R ST Hed # Hfiar Andr et widw ger srfure g g ?
7 ﬂ\m) 3?%% THo TFo (B) a® 9%
(D) T ‘
\/ he anti-tank missile successfully tested by the DRDO on 28th February 2018 was :
(A) Trishul (B) Akash (C) Nag (D) Shaurya
”‘-% wRad 2018 B DRDO 10 67 T=r-3% M & awa gderr faar 7 ?
(A) B (B) ST (C) T - (D) o

84. Palacontology is the study of':
_ (A) Plant and animal fossils e \/ (B) Rocks
\/ (C) Volcanocs (D) Atmosphere

603/A P.T.O.
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STaTey e st wET &

(A) ST 3R 9y Sarem # (B) =Emi &
(C) wTETHEr 5 (D) aTgAEH P
85. ' Inwhich Indian city is the National Institute of Nutrition located ?
(A) Bengaluru (B) Chennai
(C) New Delhi . (D) Hyderabad /
HIRA % [ 9Tt # e sreftee oifts e R 7
(A) TS B) ==
.j y (€) 7% Rt . (D) tEmEE
(Gg/ Should the RBI reduce the statutory liquidity ratio by 50 basis points, then :

(A) India’s GDP will increase dramatically.
(13)  Foreign institutional investors will bring in more capital.
(C)  Scheduled commercial banks will cut their lending ratcs./
(D) Liquidity in the banking system wiil be drastically reduced.
7( Tt ATEISAE Fenfer ern SrqaT 50 STUR &% § &7 T 8, 79
(A) 9T & SET T2Pi7 w7 § a3 @
(B) fazsh s flvs o 5T ST
(C) srgafad aififers 3o st sor i 7 w2l )
(D) HFT JomelT & A B F A oM -
87. According to the Constitution, a new All-India Service can be instituted with the initiative
taken by ?
(A)  More than two-thirds of state Assemblies (B) The Rajya Sabha \/
7( (C) Presidential Order . (D) The Lok Sabha
e  sER, 7% afw HIRATT HET &7 BT BT AT T &
(A) =1 fE § arferes ot 31 fremr gamel zmn (B) I |47 &1
(C) Tedft & ARy Zry (D) % 99 &[T
88, Janaki Ammal was the first Indian woman to get a Ph.D. and an honorary D. Sc. from the
University of Michigan in which subject ?

(A) Physics (B) Mathematics

(®) Chemislry/ (D) Botany . iéﬁti“réiﬂ
wawmmﬁﬁmaﬁw@mmﬁmmmmww
Aot i, 78 Sy vE e e 3 ey 2

(A) i s (B) wiftrey

(C) T (D) Tt Rare
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Match the names of Vedangas given in Column I with the discourses as given in
Column II and provide the correct answer from the options given below :

Column 1 Column II
. Shiksha a.  ritual instructions
2. Kalpa ~b. phonetics, phonology, pronunciation
3.  Vyakarana ¢. etymology and meaning of words
4. Nikruta d. grammér and linguistic analysis
Options :
(A) l-a, 2-c, 3-d, 4-b (B) 1-c, 2-d, 3-a, 4-b
(C) 1-b, 2-a, 3-d, 4-c . (D) 1-d,2-b, 3-a, 4-&

qAT 1 H 27 1 326 & 9 @ B gl 1A RY 1 g @ e ofk e R et § §
&l T Yy -
il g

L. R s a. HEPR daell gudy
- | e .b. e, w-REe, =Ry
3. WM e c. AN fasie wd =i v o
4. fagm S TTTAd, T oK e R
e

(A) 1-a,2-c, 3-d.4-b X (B) 1-c, 2-d, 3-a, 4-b

(C) 1-b,2-a,3-d, 4-c .e \,/ (D) 1-d,2-b,3-a,4-d

The'Union Legislature can legislate on a subject included in the State List only when :
(A) The President Orders -

(B) The Rajya Sabha passes a resolution to this effect \/

(C) The Speaker give permission '

(D) Thercisa national cmergency

& faerfaer g gl § anfir e R S o9 € S o aedt o

(A) Treafy & oma &

(B) USF 997 5% [T 9&9 qifid &Y

(C) = o 3

(D) UEIF YT &

P10,
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Match the years given in Column T with the important developments in the Indian
Independence Movement given in Column 1T and provide the correct answer from the
options given below :

Column I Column H
I 1905 - a Civil Disobedience Movement
2. 1918 \ b.  Poorna Swaraj
3. 1924 \3 ‘c. Partition of Bengal
4. 1930 d.  Champaran Satvagraha
Options :
(A) 1-d, 2-c, 3-a, 4-b (B) 1-a, 2-c. 3-b, 4-d
(C) 1-c,2-d,3-b,4-a , v ’ (D) 1-b, 2-d, 3-a, 4-c

qﬁlﬁﬁ%ﬁﬁﬁﬁ@m-qﬁllﬁﬁﬁﬁﬂﬂ%ﬁuﬁﬁwﬁm%%ﬁﬁaﬁw%ﬁﬁq
-ﬁrﬁﬁﬁﬁmﬁ%aﬁwaﬁv

qHr 1 e 1

1. 1905 a. AT SR s
2. 1918 b.  oof wr

3. 1924 C. I & ey

4. 1930 d.  FUR0 T

faepeT

(A) 1-d, 2-c, 3-a, 4-b (B) 1-a, 2-¢, 3-b. 4-d
(C) 1l-c,2-d, 3-b, 4-a (D) 1-b, 2-d. 3-a, 4-¢
Newton’s First law of Motion is also known as

(A) Principle of Inertia (B) Causality Principle
(C) Constancy Principle (D) Principle of Relativity
W%W%s@ﬁmﬁﬁw%wﬁﬁwm%:

(A) Tz =1 g \/ (B) R =1 fagr
(C) o 7 fagrey (D) aET 7 fagr

Which among the following cities has the mid-day sun exactly overhead only once in a
year ?

(A) Delhi and Chennaj (B) Srinagar and Darjeeling
(C) Nagpur and Kolkata (D) None /

R % & Pt a1t i e o Sy e e e g

(A) Rl ofik 39 | (B) # R &fit gifffeir

(C) I @i S (D) #E off 7
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94. When the nucleus of uranium is bombarded with neutrons, it breaks up into two of nearly

cqual mass. This process is called : /
/' (A) Radiation (B) Fusion (C) Fission , (D) Emission
Vo A g A ST % e SR a8, 78 T A fe % & e o o #
SHaT @ BEA 8
(A) fafaRor (B) ®aaw (C) fEss (D) T

85. Match the names of sanctuaries given in Column I with the states in which they are
located given in Column II and provide the correct answer from the options given below :

-7~  ColumnI Column II
|k Keladevi a. Goa

-\ 2. Pench . b.  Bihar
?3 Udaypur " —vc¢ Madhya Pradesh

./ 4, Cotigao d.  Rajasthan
Options : S i
(A) 1-d, 2-c, 3-b, 4-a --\/ (B) I-a, 2-d, 3-c,4-b <.
(C) Il-c,2-a. 3-b,4-d +# i (D) 1-b,2-c,3-d, 4-b(%

, qa"rmﬁ%rm}‘W$Wﬁfﬁﬁ¢mﬁﬁnqﬁﬁnﬁmﬁﬂﬁ%ﬁwé,%maﬂwﬁ
o Fou Frmd 3wt s g

7 T 1 | zﬁr Il
I, Fmredr /f’““\? a.
2. W/ P e fam
3. “mgt ,,5251”; e mEmy
4. FHEE Aol R
e / il
(A) 1:d,2-c, 3-b, 4-a (B) 1-a,2-d, 3-¢, 4-b
(C) 1-c, 2-a, 3-b, 4-d (D) 1-b,2-¢,3-d, 4-b
96. Where is the Indus Valley site located in Haryana ?
\/ (A) Panipat (B) Karnal (C) Rakhigarhi /(D) Kaithal
e & Ry o ww R R 87
(A) g=maE (B) & (C) TR (D) FgT
@ The Emblem of India (Prohibition of Improper Use) Act was implemented in the year :
(A) 2006 (B) 2004 (C) 2005 \/ (D) 2003
3 UHT A1 31837 (T SuarT @1 ) tae {9 ar) R Ty v ?
(A) 2006 (B) 2004 (C) 2005 » (D) 2003

603/A P.T. O
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98. The Nobel Prize for Physics in 2018 was awarded for pioncering work in which field 2

(A) Lascr Physics (B) Quantum Mechanics

(C) Thermodynamics (D) Acrodynamics

T 2018 ¥ for &1 7 g T FT % (A Ao e i e g R ar 7
\/ (A) o e , (B) F@mvew 3

(C) wT (D) gt

9. Match the years of governmental committees to measure poverty given in Column I with
,__J/ the persons who chaired these given in Column IT and provide the correct answer from
the options given below :

g Column I y Column 11
¢ '. { Ik 1989 a.  C.Rangarajan > cz,mc.},i'l’: o
/2. 1997 b.  Y.K.Alagh ¢ 197%) s W)
% S _—
: 3. 2005 c. D.T.Lakdawala ¢1713)
4. 2012 \d. Suresh Tendulkar
Options ;
(A) 1-c, 2-b, 3-d, 4-a . (B) 1-b,2-c, 3-a, 4-d ¢
(C) 1I-a.2-d,3-b,4-c (D) 1-d. 2-c. 3-a, 4-d «
el Iﬁﬁ%@ﬁﬁﬁm%%ﬁmW%ﬁw%wﬁliﬁﬁ%ﬁﬁﬂmﬁ%ﬁ
SRl | el i
. 1989 a. ®o TR
2. 1997 b. 3Eo &o 3wy
)( 3. 2005 c. o dc TAHBEET
4. 2012 d g
g
(A) 1-c,2-b. 3-d, 4-a \/ (B) 1-b, 2-c, 3-a, 4-d
(C) 1-a,2-d, 3-b, 4-c (D) 1-d, 2-c, 3-a, 4-d
100. The biolegist who discovered the scientific function of cells in 1665 was :
(A) Robert Hooke (B) Andreas Vesalius

(C) William Harvey (D) John Hunter
\/Iﬁﬁsﬁﬁvﬁaﬁaﬁ%ﬁ%%%ﬁﬁmﬁ@aﬁeﬁ,ﬁ%:

(A) T gs *y (B) sizd Rl
(© (P e, (D) e

603/A
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